EARAZROREIERT — 2 N—XBISY —F 20146 H48 (K) 6EIZHE2H

> C154 C15 45%—M% (w8 | mEmml - |5 5) o 8
[AE£] 1% :135,000” ~ 2#&:25000M”  33#%&:10,000 M  4%&:6,00H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s s 4 4 | FEBEE 1:32.4 5-4-3-2 | 39.3| — 1 446 |EHEE (BHE)
1155 H7—R 54.0 (=) (+3) i)iﬁi;EEK
L—iA70— B:EHH>T— ng r—
o9 oo =20 IR :32. -1-1- . — tERElE (BHE)
olglg| v TLITA H o4 LIl 1(312)6 1-1-1-1 | 39.7 4 (4_658) ﬂg@ﬁ
LNTNALT7zA—- B:ILHbOyF R E
. = NKE . —5-5- - Tikah— (BHE)
F7UFEZ it 4 A 1.(3533.7 4-5-5-3 | 40.2 5 <4+314) *(,a L ENE
R:TTyIk—9 BAATLIE—F 2 s
LA 4 4 | ALE— 1:34.0 3-3-4-4 |40.8| — 7 425 | /INERBSER (SEHR)
TYAIX 54.0 (1 1/2) 1) () K257
L:7Re4 v T v/8> B:7UFcar>I0 =E R
. i #H o5 | BREAE 1:34.4 8-8-7-6 |39.9| — 6 416 | HEIARIE (BEHE)
U//ro_l/ 5%'0 (2) (-5) (*;) J7—XARET 3>
RZFAT—IVE Bia-—7Ya4F— J—HrT L
N #F_EBAE :35. =7=1 . — HFLiE— (BEE)
T7 2% — I i 1?3?)1 [ ? ?352) STEFIA
L:T7LBAT49 77148 BXTT7 /742X g B
N . KA = : -0 — HFLE— (BEE)
o PIER e AT it 6 g 1.(325>.5 2-2-2-5 | 42.5 8 (4;8) s
LTRALT Yy RFA B A% T 7%y — B 77—54
s 44 | RIFBAEB 1:36.0 6-6-6-7 | 42.0| — 3 459 WaA— (BHE)
8l1l1|FL7Y 56.0 2 1/2) 4a) | B) K=2oT
TN Ry TH BEOYS e SE45
@ 1—F—@&BIEf
13=zr= 8,7,6,3,5,1,4,2
Aol=5r= 8,7,6,5,3,1,4,2
30—7+— 8,7,5,6,3,1,(2,4)
43—+ — 8,5,3,6,7,2,1,4
[ RN
B OB 5 140 714K 5-8 240M B E 5-8 680 &R 3-5-8 1,190H
8 B 5 110 &= 260 B H 5-8 610M JEH HREn 2,860
8 190 3-8 910M
8 180F4

ABICOVWTRDTEEERROODE. TR LIV,



